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What is the specific volume of compressed liquid water at 5.0 MPa (abs) and 60 °C?

 

 
 
 
SOLUTION: 
Since there is no specific volume data at 60 °C at 5.0 MPa in Table A-5 shown below, we can approximate the 
specific volume at 60 °C using linear interpolation, 

𝜈!"	°% − 𝜈&"	°% = $'!"	°%('&"	°%
)!"	°%()&"	°%

% (𝑇!"	°% − 𝑇&"	°%), (1) 
where 

v40 °C = 1.0056*10-3 m3/kg 
v80 °C = 1.0268*10-3 m3/kg 
T40 °C = 40 °C 
T60 °C = 60 °C 
T80 °C = 80 °C 
Þ n60 °C = 1.0162*10-3 m3/kg 
 

 
(Table from Moran et al., 7th ed.) 

 
 
 

 
(From Moran et al., 7th ed.) 
  


